MBF3C — Compound Interest Date:

SIMPLE INTEREST
It Really Is Simple

CALCULATING SIMPLE INTEREST

Simple interest is calculated as a percentage of the 'Pfr(l au 'PC? L on an investment or loan
using the formula | = Prt where:

| = ,n+'€f5\5+ Qmounf (accumulated over -tl‘ma- )

P= tPr in C,I'IP'Q L (the Ort'g?n'na L amount)

r= iﬂ+e/66+ rate (expressed as a Qlecima L )

t= kﬂg+h O'F —flmf_ (expressed in terms ofdcq &) )

Simple interest is added to the principal at the end of the period using the formula A = P + |, where

A= T0+0.{ amount (principal + interest)

Interest Rate (I')

Show the following interest rates as they would appear in the simple interest formula as I.
(Hint: Divide by 100, or move decimal 2 spaces to the left)

a) 13% — 12100 b) 2.5% = L.9*100 ¢ 05% =05 =100
=013 = 0025 = 0005
Time (1)
Express the following lengths of time in terms of years (t in the simple interest formula)
a) 24 months b) 8 months c) 14 weeks d) 82 days
24 _2 dca ’s £ =0_b'+atqu 4 _0272 9een 2 _022 Yeors.
& 12 59 365~

In the simple interest formula, time MUST be expressed in terms of years.
So... if time is given in:

e Months 2 =+ by |Z
e Weeks 2 + by 52
e Days =2 +by 3697
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=
EXAMPLE 1 71 e 7 Tt

a) Calculate how much interest is earned if $2 000 is invested at 4.5% simple interest for 26 weeks.

T-9 T-P-r.t
P < %2000 2000 * 0.04S + 0.5 .'.:ﬂ\c Qmount- a-:'L

¢ - U5%<00us = intecest €arned 1o dUS
+ - Qoweeks .05 = Lﬁ— in A6 weelss.
52

b) How much is the investment worth?

A:?*I

- 9000 4+ U9
= 32045

The Simple Interest Triangle = Finding P, r, and t
Rearrange the simple interest formula to find the principal, interest rate, and time.

T
| = Prt /]\ P = 1 r= __l. = —
rt Pt P~
/P r t\
EXAMPLE 2
How much principal is needed to earn $500 in interest in 2 years invested at 2.5% simple interest?
T . $500 P L
P ’2 ct you need +o lnvest
C _ 95%.00% Coo $loooe
t . Q.Jca.m i 0.02%"(9.)
10005 + I =
EXAMPLE 3 = 1009 ?— 2
What rate of simple in'fzeresf is needed to get $7 000 to grow to $10 000 in 5 years? | LLyl
I = (oo —Fooos = 00> 0 oo Mu l+'19 H j o=
’D:?‘OOO = T - %00 - 0,08'6—% ) \ Jd
r-9 Pe 1000 -5~ 267
t =T yea, — y
2gean . The inteert vate reeds to be C(ﬁé/,
x I =
prl= p
EXAMPLE 4 L}
How long would it take $1 500 to grow to $2 000 at a simple interest rate of 3%?2
[ = 2000-\500 = S0> - T 502 -
P - I50= TP 1500 (0.03)
: 1
= 3/7=0023 It would Fale 2pRV 2K M2 "c‘/y //.l/jm_

-
t -7 T
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